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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 9,500
Al 9,500
201 LBt 9| 19,000 17,000 2,000
2 9,500
Al 9,500
03 A2 H H| 19,000 17,000 2,000
OB AEIERSE =& 19,000
-Jelelld ¥4 d 29 200,000 *~ 359 7,000
2 3,500
Al 3,500
-J|F X&olna 29 50,0008 * 24038l 12,000
= 6,000
Al 6,000
JISHS HEDIEHSIUHES AMZ=RAS) 127,430 90,790 36,640
201 et Y| 7,930 9,790 A 1,860
01 AP 2t 2] d| 5,950 7,750 A 1,800
OJI&HH3 s =& Zelyg A28 2
202,500 = 43| 810
ONZBHANSX EXA M 500& * 900 450
OJIZHs s 22 M
100& = 28,0000H 2,800
OJI2He s =82 s+ M
55,000& = 180H 990
OMEA sMOIIIE B HI&
225,000 * 400 A 900
02 E22%H| 180 240 A 60
ONINXSK & ASAAEH SEdls
15,0008 = 13| & = 128 180
03 SHAI2 G H| 1,800 1,800 0
OJI&H3s s s ZAFE  300,000& * 33 900
ONEtA SMOIITE e ZAIE
50,000& * 183 900
202 o4 | 2,100 2,100 0
01 2Ll 2,100 2,100 0
OJIzdHs 242 =XAOAHY| 2,100
207 I & d| 60,000 25,000 35,000
01 eip gyl 60,000 25,000 35,000
O2&JtA WHEANAHE OIBBHMA 8 ¥
45 859 40,000
OHiE&HHM 2LIEHEAHEAN S 249 20,000
301 LBt A= 26,400 21,400 5,000
01 AR E & A 462 10,000 10,000 0
OJelHX &I 222 XNE0tsHEH XA
5,000,000& = 23] 10,000
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09 HAIAHI EAZ 1,400 1,400 0
OJelelg8gos s A& 1,400
11 J|EtE A3 15,000 10,000 5,000
ONMEA SMOIIHE AA2(E) 15,000
-1 7,000,000& = 1JH A 7,000
-2= 4,000,000& = 1JH 2 4,000
3s 2,000,000 * 20 A 4,000
307 2iztol & 2,500 2,500 0
02 QIZ2HA AAIE B X 2,500 2,500 0
O2AIA 2= AP A XS 2,500
402 SI2vXHE0| ™ 28,500 30,000 A 1,500
01 QIZEXI2AIE 2 X 28,500 30,000 A 1,500
oolL] steedMA~ 8% XN
300,000& = 9501+ 28,500
I EHSHE &AL 10,000 10,000 0
201 et 10,000 10,000 0
03 A2 HH| 10,000 10,000 0
OJIZEHZ s A =&Y 10,000
JEHS HSAY 800,000 0 800,000
= 400,000
Al 400,000
401 Al EHI L 204 HI 800,000 0 800,000
= 400,000
Al 400,000
01 A& H| 800,000 0 800,000
OZ2Z&HAN 22 I (Cool roof) & Xl 800,000
= 400,000
Al 400,000
JIZ2He E8 MHEANE 29 326,675 264,851 61,824
201 LBt 9H| 39,000 60,000 A 21,000
01 AP 22| d| 4,200 4,860 A 660
OJI&ds E2NHEAE CHHEM XL X2
600 = 7,0000H 4,200
02 22244l 34,800 55,140 N 20,340
OJI=8H3 =22XMEg2 RA B
500,000& ~ 12€ 6,000
OJIZHs HOZ2Y 8K B4
300,000& ~ 12€ 3,600
OJIZH3 HOZ2Y dot=k 22
2,100,000& = 12& 25,200
307 2iz2to| & 271,970 204,851 67,119
05 QIZ2tR E 2 271,970 204,851 67,119
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OJI=Hs 22MEAE 298 LUAES 271,970
401 Al HIZ 201 8] 15,705 0 15,705
01 A& HI 15,705 0 15,705
OJI=83s HOZ& 0= &1
523,500& = 30m’ 15,705
=24adtAaze elZetR s 100,000 100,000 0
= 50,000
Al 50,000
401 A& HIZ 2018 100,000 100,000 0
= 50,000
Al 50,000
01 A& HI 100,000 100,000 0
OZSSEA Sa=35AY 100,000
= 50,000
Al 50,000
IS ES 953,500 0 953,500
= 800,000
Al 153,500
201 Let24dy] 3,500 0 3,500
01 At 2teltl 3,500 0 3,500
O®IIXESX B2 E2=2 ME
350& * 10,000% 3,500
402 RIZ2tXt20l ™ 950,000 0 950,000
= 800,000
Al 150,000
01 A TtEAEEX 950,000 0 950,000
O&EIIXsx 2edl XA
15,000,000& * 50CH 750,000
= 600,000
Al 150,000
O&IIXsSA SHAE &X XN&
4,000,000& * 50CH 200,000
= 200,000
A TSI ESAY 131,000 388,000 A 257,000
= 65,500
< 19,650
Al 45,850
402 RIZ2EXt20l ™ 131,000 278,000 A 147,000
= 65,500
< 19,650
Al 45,850
01 ATt EAEEX 131,000 278,000 A 147,000
O&HIA & Azd X& 104,000
= 52,000
< 15,600
Al 36,400
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OFAINA X (EAXF) 2LH X 27,000
= 13,500
= 4,050
Al 9,450

EIATZQOIEN 24 136,926 102,270 34,656
= 63,000
& 18,900
Al 55,026

101 2121 d| 7,926 14,670 NB,744

04 JIZtHIZ22XNSES 7,926 14,670 ANB,744
OEAIQEN EE22& 2AFY 7,926
-Jl23 48,240 = 18 x 120< 5,789
SaFLE 48 2403 * 18 * 24¢ 1,158
S PN 48,240 » 1 » 4L 193
-8 2 7,140,000& * 11% 786

201 et 9| 3,000 3,600 A 600

01 AR 22l ] 3,000 3,600 A 600
OEAIEOIEN E22 MZE 100& = 30,0000H 3,000

301 Bt A= 126,000 84,000 42,000
= 63,000
== 18,900
Al 44,100

11 JIEtE A= 126,000 84,000 42,000
OEAIEOEN QHEE M2 126,000
= 63,000
=} 18,900
Al 44,100

XEA TAXA 3,229,635 4 521,299 AN 1,291,664
= 354,250
N 400,000
& 247,339
Al 2,228,046

A 22| 1,200,830 2,793,672 AN 1,592,842
= 110,000
N 400,000
= 80,000
Al 610,830

ANASGHA 22| 216,013 205,299 10,714

101 Q24| 32,850 44 598 AN 11,748

04 JI2ZtHIZ22NEE S 32,850 44 598 AN 11,748
Obdld =MAZS2e & HE=&Y o2 32,850
-J=2 48,2403 « 4H x 120 23,156
-S54 48 2409 *« 43 x 24 4,632
- s assE 48,2408 * 4 * 6L 1,158
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Hu: Y TAEY
Sl 2ETY 2 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
—-4H2E 28,944,000& * 11% 3,184
— 2tAlH| 3,000& * 4H » 60 720
2 et A | 124,363 84,301 40,062
AtS 2t el i 35,521 26,459 9,062
OBtH4+BSIY 2BAMN 242
25,0003 * 3000 A * 123 9,000
OBE4+E=ETY, SS0AL NS 248
33,0003 * 32004 * 12& 12,672
OUEH UISANREXN LR
2,129m x 135,000& * 120% * 10/1,000 3,449
OMEfSIAE 22l A28 ¢
15,000& * 5IH 4 * 12& 900
OMEiotE 2t 2 Xt 500,000 = 4CH 2,000
O1A+ 16t & 228 +¢
2,500& = 1,0000H4 2,500
odod =4 8 = (BHA) 5,000
232gH4| 88,842 57,842 31,000
OsdollIC BEZ& MIlR3z 500,000& 128 6,000
OsdalIC Bod szl (nd, =4)
500,000& = 201 = 43| 4,000
Ot RAEF BLFE MIIRS
4,000,000& = 10& 40,000
OdNAE =3AE MIIR=Z 500,000& * 9& 4,500
OdA Otz MIl2a 250,0008 128 3,000
OXlE R8s HEIXN MI|HMR = (150k
w) 111,760 » 128 1,342
OQUNE =ZANE |22 S 30,000
202 oddl 2,800 2,800 0
01 = LH 4 1l 2,800 2,800 0
O=HZelgdd g2 =& ol 2,800
206 M= Hl 6,000 3,600 2,400
01 =8l 6,000 3,600 2,400
Ofta +AFs%E £ 7
20,000& * 300= 6,000
207 Ao 30,000 30,000 0
01 A2 ESHI 30,000 30,000 0
OAMHFEMENSIE SJAY AIZE 2LHE 9 30,000
401 Al&HI & 28I 20,000 40,000 A 20,000
01 A& HI 20,000 40,000 220,000
OdUE SEBHIIZAIEY 20,000
=2y FZzel 118,150 198,916 A 80,766
207 A RO H| 118,150 198,916 A 80,766
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01 | 118,150 198,916 N 80,766
OAMSEHE O|HEHI 2H(x=HIIS) 61,750
OHIESAZANE AT XIA 2H(2=HII2) 56,400
SFE MY Dl = HAE 50,000 42,857 7,143
= 35,000
Al 15,000
101 124 4| 44 177 36,668 7,509
= 30,924
Al 13,253
04 JI2ZtHIZ22NEES 44 177 36,668 7,509
OotEMY D] =HAY 282 44 177
-JI22(£HII=2 9158 )
48,240 ~ 119 » 60 31,839
= 30,924
Al 915
-Ra52xE 48,2403 ~ 11 = 12Y 6,368
=P =S 48 2409 » 11 » 3 1,592
—AHEE2 (A2 4,378 )
39,798,000 * 11% 4,378
201 LBt Y| 5,823 6,189 A\ 366
= 4,076
Al 1,747
01 AP 22| d| 5,823 6,189 A\ 366
OQodtEMY DI =08 SERU(LHII2 707
) 5,823
= 4,076
Al 1,747
ol T AGIE MEH=SJ ALY 666,667 1,346,600 A 679,933
Xl 400,000
o=t 80,000
Al 186,667
401 AlEHI 2L £ 0HY| 666,667 1,346,600 A 679,933
Xl 400,000
& 80,000
Al 186,667
01 Al&H| 662,667 1,344,600 A 681,933
Os0otd MEHolE SR AL 2 AtH| 662,667
Xl 400,000
o= 80,000
Al 182,667
03 Al 201 Y| 4,000 2,000 2,000
OAEE0id] 4,000
SN2 OJgldlsolZel XHAY 150,000 0 150,000
= 75,000
Al 75,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al HIZ 201 Y| 150,000 150,000
= 75,000
Al 75,000
01 A& HI 150,000 150,000
O M2 Delegelmer ZHAE (=HII2 20
250% ) 150,000
= 75,000
Al 75,000
e MEHH E2H 2,028,805 301,178
= 244,250
= 167,339
Al 1,617,216
OHlsalE B2 133,999 15,656
< 6,964
Al 127,035
101 14 dl 73,705 2,741
04 JIZHHZ2Z2XNESE S 73,705 2,741
OSFZAIA 21l 35,381
-J=22 1,273,000& » 1H » 128 15,276
—&0u=3 1,273,000& = 43| » 1H 5,092
-25=4 1,273,000& = 0.11 128 1,681
—XENS 80,2803 * 1H » 7 562
S EEP=
15,0503 * 1H = 20AI2H » 123 3,612
- M Z A 130,000& » 198 = 128 1,560
- EFOHl 1,273,000 » 1H * 1.23] 1,528
—wWsS2x4| 130,000& » 198 = 128 1,560
-JIEg 270,000& = 18 » 123 3,240
=&l 140,000& » 1H » 53 700
— =4l 150,000& * 1H 150
- = gl 7,000% * 5&1 « 128 420
OdE AR SAS EXUR 38,324
-Jl2= 48,2403 * 498 » 140 27,015
- R=25gsE 48,2402 * 4H » 1402 /5 5,403
PN R =, 48,2403 * 4H « 7Y 1,351
-4 2E= 33,769,000 * 11% 3,715
— 2tAlH| 3,000& * 48 » 70 840
201 £B-2dH| 20,780 10,180
01 At 22l 8,780 750
OOt sSE FoXSZH 50,000& = 60A 3,000
OO =s= ALXMI X 2l bl 5,000& * 400kg 2,000
OOM=EE &8 T2 EXE M
50,000& = 104 500
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70,0003 * 4% « 13 280
OfdiotdsSEs Z&C X)) 2L
50,000& * 30 1,500
ORloIMESE =& &olHX ¢
1,000& * 5004 500
OHMEfuSE 2AZ 50,000& = 103l 500
02 =224l 9,000 0 9,000
ORdiotdsSs X2t 28&
300,000& = 309H 9,000
03 A2 Z Hl 3,000 2,570 430
OOt sSES HOI=I| A 3,000
202 oddl 2,800 2,800 0
01 = LH o4 1l 2,800 2,800 0
OXNAMEHEN 22 =& bl 2,800
206 M= Hl 7,500 4,500 3,000
01 =8l 7,500 4,500 3,000
O AAX AHMAM &
150,000& * 15% 2,250
OWHAEIXI el ZaretdE 2 225,000& = 109K 2,250
Os=& JlILH 7 30,000& * 1002H 3,000
301 et a3z 25,214 25,479 A 265
< 6,964
Al 18,250
1MIIEELES 25,214 25,479 A 265
OOtM=s== e TIoHE & 23,214
< 6,964
Al 16,250
OdEI AR SAZS EIXAY 2,000
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05 RIZt2IEt = 4,000 4,000 0
Ofds=+7X A8 A=
20,000& = 1004 » 29H 4,000
O =2 IIoH0 A 37,500 36,064 1,436
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< 5,625
Al 13,125
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01 It =2 AL E X 37,500 36,064 1,436
OOMES= molluEAlIE &XXA 37,500
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1MIIEBEAS 60,000 66,667 NB,667
odgrddze AL X 60,000
= 18,000
= 21,000
Al 21,000
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